
In the United States, there are many different types of taxes: highway tolls, estate 
taxes, entertainment taxes, retail taxes, and more. No matter what the tax, 
however, it falls into one of three  categories:  regressive, progressive or 
proportional. Let’s go over each of these.
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Let’s assume two people, Wendy and Joe, want to buy the same car. 

Wendy earns one hundred thousand dollars a year, and Joe earns twenty thousand. 
They both want to buy the same car which costs twenty thousand dollars. Sales tax 
is five percent of the total price, which is one thousand dollars. Since Wendy earns 
one hundred thousand dollars a year, one thousand dollars represents  one percent 
of her income.  However, the same thousand dollars represents five percent of Joe’s 
income.  

Although the total tax is the same, it equals a larger amount of Joe’s income 
because he earns less. This is an example of a regressive tax. 
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Regressive taxes take a larger percentage of the income of low‐income people than 
of high income people. Sales taxes and other taxes you pay when you buy things 
such as gasoline, cigarettes, and liquor are considered regressive taxes. Social 
Security is also considered a regressive tax in that there is a cap of around one 
hundred thousand dollars, and income above that cap is not taxed. If you make two 
hundred thousand dollars or twenty million, you pay the same social security tax. 

Can you think of other regressive taxes?
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Let’s use Wendy and Joe again to look at progressive taxes. 

Wendy’s taxable income is one hundred thousand dollars, and Joe’s is twenty 
thousand. 

Using the 2009 tax table, Wendy would have to pay twenty one thousand seven 
hundred and thirteen dollars in income taxes, almost twenty two percent of her 
income. Joe, on the other hand, would have to pay two thousand five hundred and 
seventy‐nine dollars in taxes, about thirteen percent of his income. 

Wendy’s tax burden is higher because her income is higher. This is an example of a 
progressive tax. 
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A progressive tax is a tax system in which those who earn higher incomes pay a 
higher percentage of their income than those with lower income. The U.S. income 
tax is an example of a progressive tax. As you can see from this table, the lower your 
income, the lower the percentage you are taxed. For example, if you are single and 
make forty thousand dollars, you must pay twenty‐five percent to the government, 
while if you make one hundred thousand dollars, pay twenty‐eight percent. Note 
that these are just rough estimates that may vary greatly depending on other 
circumstances.
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A proportional tax is tax that applies the same to everyone, regardless of income. 
This may sound like a regressive tax, but the difference is that proportional taxes 
consume the same amount of a wealthy person’s salary as a poorer person’s. The 
most common example of a proportional tax is an income tax that is “flat,” because 
everyone pays the same rate. Unlike progressive income taxes, someone making 
twenty thousand dollars would pay the same rate as a person making twenty 
million dollars. 

In our example, if income tax was proportional, and the rate was twenty‐five 
percent, Wendy would pay twenty‐five thousand dollars in income tax, and Joe 
would pay five thousand dollars. 
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Next time you buy something, look at the receipt to see how much tax you paid. Look 
closely at your grocery bill, because some items may be taxed differently. Foods for home 
consumption may have reduced taxes while other things you buy may be taxed at the full 
rate. Look at your paycheck to see what kinds of taxes you pay. Think about whether each 
tax is regressive, progressive or proportional. You’ll find that all taxes aren’t the same. 
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